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G = PSL(n,R)

Let G = PSL(n,R), then
o a = {diagonal, traceless n x n real matrices}.
o at = {(Aij)axn €Ea: A > Ait1it1}
o A ={ai,...,an_1}, where a;j(Ajj)nxn = Ajj

o (i) = anp_j.
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Let G = PSL(n,R), then
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o at = {(Aij)axn €Ea: A > Ait1it1}
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o (i) = anp_j.
o If g € G is diagonalizable over R with eigenvalues {\;}7_; so that

IAil > [Ait1], then A(g) € aT is the diagonal matrix so that
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Let G = PSL(n,R), then
o a = {diagonal, traceless n x n real matrices}.
o at = {(Aij)axn €Ea: A > Ait1it1}
o A= {051, “eey Oén—l}. where Oé,'(A,‘J)nX” = A,'y,' - A,'+17,'+1.
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o If g € G is diagonalizable over R with eigenvalues {)\;}7_; so that
|Ai] > |Ai+1], then A(g) € aT is the diagonal matrix so that
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G = PSL(n,R)

Let G = PSL(n,R), then

o a = {diagonal, traceless n x n real matrices}.

o at = {(Aij)axn €Ea: A > Ait1it1}

o A = {051, “eey Oén—l}. Where Oé,'(A,‘J)nX” = A,'y,' — A,'+17,'+1.

o (i) = anp_j.

o If g € G is diagonalizable over R with eigenvalues {)\;}7_; so that
|Ai] > |Ai+1], then A(g) € aT is the diagonal matrix so that
(A(&))ii = log |Ail.

o P = {upper triangular matrices in G}.

1
® wa;(Aij)nxn = > A=A

k<i,/>i+1
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o Let ¢ty : PSLo(R) — G be the irreducible representation.
@ p: I — G is Fuchsian if there exists a discrete and faithful
p' T — PSLy(R) so that p =¢,0p'.
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Labourie: Any Hitchin representation is Pa-Anosov. )

= For all v € '\ {id}, p() is diagonalizable over R with eigenvalues
{Ai(p(7))}=y so that [Ai(p(7))] > [Aiza(p(7))] forall i=1,....n—1.
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Hitchin representations, G = PSL(n, R)
o Let ¢ty : PSLo(R) — G be the irreducible representation.
@ p: I — G is Fuchsian if there exists a discrete and faithful
p' T — PSLy(R) so that p =¢,0p'.
@ p: [ — G is Hitchin if it can be continuously deformed to a Fuchsian
representation.

Labourie: Any Hitchin representation is Pa-Anosov. )

= For all v € '\ {id}, p() is diagonalizable over R with eigenvalues
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Hitchin representations, G = PSL(n, R)
o Let ¢ty : PSLo(R) — G be the irreducible representation.
@ p: I — G is Fuchsian if there exists a discrete and faithful
p' T — PSLy(R) so that p =¢,0p'.
@ p: [ — G is Hitchin if it can be continuously deformed to a Fuchsian
representation.

Labourie: Any Hitchin representation is Pa-Anosov. )

= For all v € '\ {id}, p() is diagonalizable over R with eigenvalues
{Ai(p(7))}=y so that [Ai(p(7))] > [Aiza(p(7))] forall i=1,....n—1.
If p is Hitchin, then for any a; € A,

) g | A1) Aip(7)
b Dl =log | N ()|

Proposition
Any Hitchin representation is Pa-positively ratioed. J
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Let G = PSp(2n,R), then
e a = {diagonal matrices (A;j)2nx2n SO that A;; = —Aop_j2n—i}.
o at = {(Aij)anxan €a: A > Ait1it1}-

o A={aa,...,an}, where ai(Ajj)nxn = Aii — Aigit1-
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Let G = PSp(2n,R), then
e a = {diagonal matrices (A;j)2nx2n SO that A;; = —Aop_j2n—i}.
o at = {(Aij)anxan €a: A > Ait1it1}-
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G = PSp(2n, R)

Let G = PSp(2n,R), then

e a = {diagonal matrices (A;j)2nx2n SO that A;; = —Aop_j2n—i}.
o at = {(Aij)anxan €a: A > Ait1it1}-
o A={o1,...,an}, where @;(Aij)nxn = Aii — Ait1i41.

e .=id: A — A.

o= {(4 8)ec)
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G = PSp(2n,R)

Let G = PSp(2n,R), then
e a = {diagonal matrices (A;j)2nx2n SO that A;; = —Aop_j2n—i}.
o at = {(Aij)anxan €a: A > Ait1it1}-
o A={a1,...,an}, where aj(A;j)nxn = Aii — Ait1,it1.
e .=id: A — A.

- {(4 2)cc)

n
Wa,,(Ai,j)an = Z Ak,k-
k=1
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